


HC VERMA 

SoLUTIGN: 
(a) fin ding wsmmpressiom at eguulybnum. 

Rut comprossion 
FBD af R 

H -M4 m2 

manAL. 

N 

N 
m 

BOTH mads 
rhi enhorienc somm 

we om 
m:4 Comlune tsth MaAas 

umto on 
R mit 

(m+mgEYA K 

Cmtmguss Y Cmtm2)9 

(m,+ma)ga ino = R* (mtm)gsin 

(b) Bin ce ho lrcke pushed 

R 

Cmytm)galnd This wiu be the 

echreme futidion 
.e A 2 (m+ma)gsin89 

AM PLITUDE 



o 

No we com dle thot the horticlo oomy 

the Cgui bum pount mpung upuonde, hum 
only he tiwo maas w kohanale. 

VT hanation, mtart for c = 0, 

So 
m 

ND 4aforahon 
O 

at. 

5o, F6D m, O 
NC 

Tr sbng frce 
at en m the 

R(-o 

ap ning was ampraild 

nehih i 
hor erchen led x 

7Otal exensim =(c-%) 

mg sins 

So m,a m, q5in8 tR(x-Xo) 
nb at a= tw 

mtm) 
Before the separat 

m R = m9sinot kx-kxa both blocks uwere invCved 
Mtm2 in sHM, so w-/R 

so, m- x= qsino -Kmtm)8ing 
Vm tm 

m tm 2 

rg ka = Ayhgein e x=m|t+ ma) g8in mi+m2 



Nous 8n co dhu Xo 

ae hawe temsim inaly 
o' 

ho 4hina s at naliwuul Longh 
when both massu d0farpliD 

CC omm ahd ot tume op 2orohon. 
Tatin2 both ocks os a uplem2 

ma = m1 tm2 

2MAMA 

SO KE = O 
fina 

KEa= 1Mv 
2 

e inial 

PE=+1 k Mgsins + *o 

naiuro 
2 

PE=Ot Mh 
Ma sino 

Sine n 
2Mas'na+ o 

R 

S nou 
KEtPE) = HE+PEa 

Ot2Nasin'ot 
kzot2AMgs inoo=/ Mv M,A 

sint kx 2 AMgsingko =_1my 2sin'o +Mgo 3/na 



o 

eo+Masinoxo= lMv 

KM sina + Ma sine - Mv 

3 Masine =v 

3M V 

R 

3 Cm,tm2) gsine V 
N 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

